ChessBase 10 Ausdruck, Husi, 16.08.2014
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Wie gewinnt Weil3 am Zuge nun?
1.Sg5! und Weil3 gewinnt umgehend
1-0
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[Husemann,D]
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(Diagramm)

Wie beendet Weil3 am Zuge diese
Partie umgehend? 1.Dxg6+ hxg6
2.L.xg6+ Ke7 3.Lc5#
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Wie gewinnt Weil3 am Zuge nun?
Dxe7 2.La6! Kxa6 3.Da8#

1.Te7!
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11.Sd5 Ld8 12.Lf4 Lf5 13.0-0-0 0-0
14.5Sxc7 Lxc7 15.Lxc7 Tac8 16.Lf4
Sa5 17.c3 b5 18.Lxb5 Tc5 19.Ld3
Lxd3 20.Txd3 g5 21.b4 Tf5 22.Lxg5
Sc4 23.Thdl Kg7 24.Td8 f6
25.T1d7+ Tf7 26.Txf7+ Kxf7 27.Le3
Ke7 28.Tc8 Sd6 29.Tc7+ Keb
30.Sd4+ Ke5 31.Sxf5 Sxf5 32.Txa7
Ke4 33.b5 Sxe3 34.fxe3 Kd3 35.b6
Kxe3 36.b7 f5 37.b8D Kf2 38.Df4+
1-0



